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D
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a
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W

T
=

D
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W
aveletTransform
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f
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)
=
∑

k

a
J
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ϕ

J
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∑

j

∑
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ψ
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a
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tačkam

a
(rekonstrukcija).

2



♠
P

iram
idalnialgoritam

(dekom
pozicija):

Z
a

funkciju

f
j−

1
=
∑

a
j−

1
,l ϕ

j−
1
,l (x

)
∈
V

j−
1
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1
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W
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∑
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=
∑
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d
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=

(↓
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b
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2
)D
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Š
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↘
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b
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t
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2
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−
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=
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∑
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∑
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=
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=

∫
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∫
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∫
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=

∫
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∑
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∫
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=
∑
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∑
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♠
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idalnialgoritam
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=
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∑
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∑
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∑
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=

(↓
2
)
(C

D
)

T
a

j−
1

=
(
(C

D
)

(↑
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K
ako
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koeficijenata
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A
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0
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f
(x
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=
∑
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0
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=

∫

f
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)ϕ
(x
−
n
)
d
x
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signalf
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=
∑
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¦
C

rtanje
grafika

funkcije
skaliranja

italasića

ϕ
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)(x
)
=
∑

n

c(n
) √

2
ϕ
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1
)(2
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−
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=
∑

n
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) √
2
ϕ
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1
)(2

x
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n
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ϕ
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)(x
)
=

{

1
,
x
∈
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)

0
,
x
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[0
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)

ϕ
(j

)(x
),
ψ

(j
)(x

)
∈
V
−

j
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{
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=
f
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∈
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ϕ
(j

)(x
)
=
∑

k

a−
j,k
ϕ
(0

)(2
jx
−
k
),

a−
j,n

=
ϕ
(j

)(n
2
−

j)
≈
ϕ
(n

2
−

j)

jer
je

ϕ
b

(2
j(n

2
−

j)−
k
)

=
δ
(n
−
k
)

A
nalogno,

ψ
(j

)(x
)
=
∑

k

a−
j,k
ϕ
(0

)(2
jx
−
k
),

a−
j,n

=
ψ

(j
)(n

2
−

j)
≈
ψ
(n

2
−

j)

A
lgoritam

:
P

olazećiod
niza

koeficijenata,za
j
=

0
,...,J

−
1
,
n

=
0
,±

1
,...,

funkcija
skaliranja

a
0
,n

=
δ
0
,n
,

b−
j,n

=
0

talasić
a
0
,n

=
0
,

b
0
,n

=
δ
0
,n
,

b−
j,n

=
0

inverznim
piram

idalnim
algoritm

om
dobijam

o
aproksim

acije
vrednosti

funkcije
u

diadskim
tačkam

a
n
2
−

J
,

a−
j,l

=
∑

k

(c(l−
2
k
)a−

j
+

1
,k

+
d
(l−

2
k
)b−

j
+

1
,k

)
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M
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0
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1
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=
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

1
0

0
0

0
0

0
0

−
1

1
0

0
0

0
0

0
0
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1

1
0

0
0

0
0

0
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1
0

0
0
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0

0
0
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N
ivo

1

(↓
2
)

(

C
>

D
>

)

a
0

=
1√2



1
1

0
0

0
0

0
0

0
0

1
1

0
0

0
0

0
0

0
0

1
1

0
0

0
0

0
0

0
0

1
1

1
−
1

0
0
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0
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0
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1
−
1

0
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0
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1
−
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0
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0
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1
−
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
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=
√

2



36283818102
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a
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2
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3
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2
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a
1
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

1
1
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0
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1
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1
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0
0

0
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−
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√
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3
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2
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3
8

1
8
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=
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aproksim
acija

a
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3
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2
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,
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b
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(
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0

)
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3
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(

1
1

1
−
1

)

2

(

3
2

2
8

)

=
2 √

2

(
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)

aproksim
acija

a
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=
2 √

2
(3

0
),
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b
3

=
2 √

2
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)
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a
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atričnizapis
rekonstrukcije

(poslednjikorak)

(C
D
)

(↑
2
)

(

a
1

b
1

)

=
1√2



1
0

0
0

1
0

0
0

1
0

0
0
−
1

0
0

0
0

1
0

0
0

1
0

0
0

1
0

0
0
−
1

0
0

0
0

1
0

0
0

1
0

0
0

1
0

0
0
−
1

0
0

0
0

1
0

0
0

1
0

0
0

1
0

0
0
−
1



√
2



36283818102
03



=



3
7

3
5

2
8

2
8

5
8

1
8

2
1

1
5



17



A
ko
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2
m

vrednosti,
dekom
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